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Time : 3 Hours Marks : 200
Instructions:

(i)

(1)

Each question carries one mark.
(58 (DHD a8 ety Sotn,

Choose the correct or most appropriate answer from the given options to the following questions and
darken, with blue/ black ball point pen the corresponding digit (1), (2), (3) or (4) in the circle pertaining to
the question number concerned in the OMR Answer Sheet, separately supplied to you.

BIHD BN (8 (BHH aSgEaS BS® KOIH HEFEEHINDH APFD TR Erdod e (1), (2), (3) T8
(4) Store 59y OMR $8rgrd S80S (HH Sowokod Sogy Ko 2HEL Bp/ers erd Fronol Y
&HAPA0D VoDRS.

8x3 — 34323 - 8y°

1. If 2x — 5y =7z — 3y then, for xyz # 0,
1Yz
B aan & A
2y —5y="7z-3y, xyz# 0, ®ONRPD - iR A
XYz
(1) 80 @ 82 (e) 84 ) 86
2 A person travels from A to Bat75 kmph ina Car and in the return journey the speed is reduced by 15 kmph.
If the total ime taken is four-and-half hours then the distance (in kms) between Aand Bis:
2.8 538 A 5008 B8 so% (Hasreso Kot 75 8.db. 3508® d, 88D (Hasreod® Jrrd) Kot 15 8. 3.
SROTD. B IF0 (HOSrERE TreihRYY Howen H88 A, Be Lot ErBo(8..o8°) :
(1) 100 2) 120 (3) 140 @ 150
3. Three persons A, B, C start a company and contribute a total of ¥ 10,70,000 towards its running. A
contributes ¥ 50,000 more than B, and B contributes ¥ 60,000 more than C. If the company earns a profit of
% 2,72,850, then the share of A is : (in rupees)
So0rHtd dgien A, B, Cen X10,70,000 ?:Jé&é&)&ﬁﬁ 2.8 500 (SrBodr. Béped 837 A épexds 50,000
DS, EBckn C éped S B DepoS T 60,000 )5, & 508 T 272,850 ergo £ ©oHS® A
soer @ (Braroned®)
@ 1,04,550 (2) 96,800 (3) 91,800 (4) 76,500
4. The volume of a sphere equals its surface area only when its radius (in units) equals :
2,8 %o $05805rm0 el 6Hbde JereriOs BrSoagd SHeo méﬁﬂgm (coreS®) Bod Doz
SER00BHPED S\
1 1 @ 2 3) 4 @ 3
5. If the angles of a triangle are in the ratio 2: 3 : 7 then the largest angle is :
2.8 (BeH2206°D Bleren 2:3: 7 05BS° @0, B 08 E &%s50 :
(1)  90°% @ 105° (3) 120° (4)  150°
6. The number of positive divisors of 1995 1s
1995 G¥) &S gresste DoaN :
(1) 8 16 (3) 32 4) 64
P-T 3-D
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1 1 1

Three persons P, Q, R start a company with their contributions being in the ratio 'é," : Z : -5" . After 3 months,

P withdraws half of his contribution, and after another 9 months ; a profit of <3,16,000 is divided among
them. The share of P is : (in rupees)

1 1 1
S0t Hgen P,Q, Rew 325 NHBS® eyl 1Y a8 LoD @FEodomrth. Hurtd Jwe SHTE P
85 DePDES® S5 EDHH0Er. BOEE SO Jve Share ST ergldn T3,16,000 & SoHtoert.
oeRS° P8 SD)S arver : (Sradroneds®)

(1)  1,20,000 @ 1,00,000 B 96,000 (4) 90,000

14.

The remainder when (6757 + 67) is divided by 68 is :

6757 + 67 % 68 & grRoSe STy B0

1) 1 () 65 @ 66 @ 67

15.

A train starts with some number of passengers. At the first station, one third of the passengers get down
from the train and 280 passengers get into the train. At the second station, half of the passengers get down
and 12 passengers getin. Now, the number of passengers in the train is 248. The number of passengers in
the train at the beginning is :

E0S508 (HairdHes® 2.8 Sen nadenddin. It REHS® Sarlodr 2.8 SodH (Hasrder HADET

280 5008 (HoirdHen Bens®S [HI80D0. To&® PiHS® (HArdHd® Ko Hod BADE™ 12 Hod &°8
[$380DB. 2 Bend® (Hasrddhe Sogy 248 wand (FrBogios® Bend® &) (HairdHe Sogy :

1) 192 @ 288 3) 324 @ 376

16.

If ABCD is a cyclic quadrilateral in which |ABC = 47° and |BCD = 97° then |ADC — |BAD =

Siah Sdyeo ABCDE® |ABC =47°, [BCD = 97° eawd [ADC - [BAD =

(1) 40° @ 50° 3) 60° 4 70°
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22.  Anarithmetic progression has 5 as its first term and the last term is 60. If the sum of the terms is 195, then
the common differenceis:
28 @o¥Bh G Ind HitSo 5, DB HtSo 60. e Hre oo Devd 195 oS’ Horosbo
(@) 1 @ 9 @) 7 4 12
23. A piece of work can be completed by A, B and C individually in 12, 8 and 6 hours respectively. All the three
" worked for two hours at which point of time C left the work. The time (in minutes) taken by the other two
to complete the work is :
A, B, Cen DADAMT 2.8 HAY SKHIT 12,8, 6 Kowed® G0 Sdbreth. SnrHth 0% Do Koten S SRS
Somg C 5D S50 et DHADS B EOB @ S Frd TaHerds HBS 5o (Ve :
1) 12 (2), 24 3) 62 (@) 72
3
24, A personsold 1 th of his articles at a profit of 25% and the rest of his articles ata profit of 17%. The overall
percentage of his profitis
3
2.8 38 @& Y ax) HthHes® Ea": S0, 25% NS GTD. Do DBHEOR 17% Srgidnds
SEAVIAS NP 29808 @é:&éé::eﬂﬁ D)0 e°g TSN
(1) 24% 23% 3) 22% 4) 21%

25.  Inthe figure given below, ABCD is a rectangle and CDE is a semicircle. If the length of the rectangle exceeds
its breadth by 7 units and its area is 98 sq.units, then the area (in square units) of the semicircular region
CDEis:

% (BoB Beod® ABCD e BESEHEHED, CDE af effio. OESHIHED FuH o Stgyp K08
7 c5oreen whEore ok, 98 SE6s) drdéy JEvego 58 $08, P wigeseto CDE @08 IT°eg0
rlnlels) cﬁ:x:rﬂﬁiérpﬁﬁ)

E
A B
1) 7 (2) 49 (3) 57 77

26. Inaclass of 30 students, 10 members of Physics main have average of 72 marks, 5 members of Chemistry
main have average of 66 marks and 15 members of Mathematics main have average of 80 marks. The
average marks of the class is:

30 ood S)mnegt.’gm fo o8 S8Kas°, a8 a(Ko (Serdorr Ko 10 Sod Qmﬂéﬁéﬂé OTP0 Sretnen 72;
EReDS P (Hersore Ko 5ihth dueghoh STedd Srtiyen 66; KBE F@Ro Beeore Ko 15 ool
Duesiie SO°KD Srtpen 80. S5KBSE° @oiid dursiie KTPKD St :

o 5
(1) 69 2) 70 3) 74 75

27. A car completes ajourney in seven hours. It covered half of the distance at40 kmph and the remaining half
at 60 kmmph speed. Then, the distance (in km) covered is :
2.8 5o8 &8 (HASrerR) DK Kowd’ FrET . @b Inid SKo Broed) Kotk 40 8.8, K08 5w, HADS
350 SRy Kot 60 8.80. Frfos%ir HrB B, e, Bcirdods Indo Krdo (8..08%)
(1) 280 (2) 300 @ 336 (4) 420

P-T 7-D
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35.  If A gets 50% more salary than B, then B gets how much percentage less salary than A ?
BEu8 A8 50% d80 5 R, ABoB Bddo Qo8 w80 SE) 7

(1) 25 @ 33% 3) 50 (4) 66—2—

= o —— o e T R ] 2 T Pl el Swrww S Sty A e — e

36. By selling two items each for T990, a merchant gets a profit of 10% on one and a loss of 10% on the other.
The result to the merchant in this transaction 1s :

(1) Loussouf1l% (2) Profitof1%
(3) No luss and no gain (4) 2% loss
Buth IJu)en adé'“&égﬁ T 990 8 @53:3&3 a8 HVHV8 .87 10% ergio Terw, 08"8 el 10% R’i@u

SO0b. & rarddd” GHHDH SO HOFo

@) 1% sgo (2) 1% ergfo
@) g&’m écﬁ: ergfior B (4) 2% g0

s N e — i - e e —— e, e e e &S L T

37. A vﬂlage wluch is recurded having pnpulatmn grnwth of 5% annually has population 18,522 at the end of
the year 2013. 'T'he population of the village at the beginning of 2011 was :

B8 Jod&Bdor, 5% axrgr LG NSV RV eoos® 2013 S dodeyorod asTrgr 18,522
2011 |Jr8ogfo ard &9 (P 23°gP :
(1) 14,000 (2) 15,400 (3) 15,800 16,000

38.  Thiree cubes whose sides are in the ratio 3 : 4 : 5 were melted and a single cube, whose diagonal is 24./3 cm
was made. Then, the sides of the original cubes are : (in cms)

3:4:5 IQHE® ghesiven e Hurtd Foddwed EBA0D, 243 0.50 8o Ko a8 Fodsone Sdirt

SahedSe. OIPLD, e BN 000 ghesalnen (0.5, 08%)
@ 12, 16, 20 @ 912,15 3) 135,180,225 (4 15,20,25

39. AB is a line parallel to the line PQ If C and D are points on PQ such that the area of AABC is ‘a’ square
units, then the area (in sq. units) of AABD is :

5568 PQ 8 H$5ross By AB. B PQD Dotiohen C, D en; AABC Bevexo ‘a’ 55553 cheRéy edngtnod
it AABD Farexo (S885 drdgs®) :

@ a (2)

PR ] - —_— ==

40. AB=13mis the dlameter of a circle. A man moves from A in a straight line and meets the circumference of
the circle at C. If AC=5m, then CB=

(1)" 8m (2) 10m 3) 12m 4 1lm
2.8 ae)eam o) aﬂéﬂaﬁ:u AB =13 8. 2.8t Aof ¥ mtﬁﬁéa::a Eslevs il Tol) é\éﬂﬂ@ C 03 8ot
IS T, AC=58D. eond CB=

(1) 8. 2) 10 . @ 12 & 4) 113v.

41.  ¥78400 was divided among three persons A, B, Cintheratios A:B = 5:4and B: C = 6:11. Then, the share
of Cis (inrupees) :
T 78,400 So0iHto Sen A, B, Coth, A)den A:B = 5:45008a» B:C = 6:11 of° Ho ad. odp,
C8 SO S0 (Eraraed®) :
(1) 31,200 (2)" 34,000 @ 35,200 (4) 36,200

@ CI

b | B

P-T 9-D
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P

49. Aroomis 5.2 meters in length and 2.0 meters in width. The least number of square tiles required to exactly
coverits areais:
2.8 KB GwE) D°ED 5.2 Doy S8 TR Bekeyy 2.0 ey, &S KB pBorr SHBS Sodos® S8Trecd
SPHeRN dode Jogy
1) 9 @ 85 @) 75 65

50. If x =03 thenx?=
x =03 oondS® 2=
() 033 2 09 3 o0.01 0.1

51. A and Bcan do a piece of work independently in 12 days and 16 days respectively. They worked together
for 4 days and B left the work. How many more days A worked to finish the work ?
2.5 53D A, BIBDAT Sthdre 12 8eren, 16 Blerod® g Johirfoth. TOEEr SO 4 BPeen HD TS
$os BB $60 Jgetd. HADS SO §rg TaherdS A 8 ovose I &eren HG0B ?
1 3 2 4 5 4 6

52. Suitable term in the following sequenceis:
Bob &:|ES0d® $0 ewonsd HKo :
ACE, GIK, MOQ, :
(1) NPR 2) MRS @ SUY (4) SUW

53. Inacodelanguage ARISE is written as CUMXK. Then the code of WORLD in that languageis:
a8 58 grié® ARISE 9 CUMXK e (@eapth. edyptd @ gr&d® WORLD Gog) 5°6
(1) YQPJF 2) YRVQJ (3) YSPIF YRPJF

54. The rate of income tax is reduced to 12%% from 16%. If a person has taxable income of
< 2,40,000 then the tax benefit (in rupees) is :
srad Sy Bev 16% ©0D 12-%8 Sjomds. o8 B8 55y 3o B wwrcbo T 240,000 wowd
538* ere(Erarand) :
(1) 4,800 (2) 6,400 (3) 7,200 8,400

55. A circle of 3 cms radius lies inside and touches all the four sides of a square. The area
(in sq. cms) of the squareis :
3 0. ao. Fgrgo o af Hdo a8 SHEFostSe, o o) gherod &) )83e dob.
s SHEH STego (3. 70..08%) :
(1) 9w 2y 9 3) 18 36

56. By selling two articles each at T 480, a merchant gets 20% profit on one and loses 20% on the other. In the
total transaction the merchant gets :
(1) 4% loss (2) noloss no gain
(3) 5% loss (4) 5% gain
25758 T 480 8 oS Botd NP a8 HEHIE 2.5 20% ergio, Bo&" e 20% r‘ﬁga Dob. S
o ovarRdS® & SEHIE IO :

4% $Ho (2 SHso Bed, ergldn B

3) 5% 0 (4) 5% ergio

P-T 11-D
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67. Thesuitable term in the sequence given below is :
Bob 1D ©HE0S® 58 ewavs Ho
DFI, EG]J, FHK, , HIM
1) HM ?) HN @ GIL 4) GM
68. If two cubes each of side 12 cms are joined face to face to form a cuboid then the surface area (in sq. cms) of
the cuboid is :
12 20.8.0 gheso Ke Both soare Sngred S8R GG 535“ 05 BaHbEL Berexo (5.30.80.08) :
(1) 1080 @ 1440 (3) 1460 @) 1600
69. The rational number with recurring decimal representation 0.1 24 is:
DTS Saeod DB 0.1 24 LTS @8BS Somy :
4 a1 5 B y
1 33 @ 330 - ® 330 @ 990
70. The total number of squares in the following figure is :
& BIHSY &) HeHns® Iwdo HSstiSee Sogy :
(1) 25 2y 26 3) 50 55
71. If GALAXY is coded as DXIXUV then the code word for STAR is :
GALAXY 9 DXIXUV re 8°€ Schadd oyt STAR 8 §°€ Siso
(1) PQXN (2) PQXM (3) PQOX ‘ PQXO
72.  Fillin the following gap with suitable letter.
KBS eEEos® Bod §rRd FrooSod.
A,D,LP, :
1) X @) Y @ U @ z
73.  Forreal numbers a and b, if axb=a2+ b2 —3ab then {1*(~1)}* {\E %2 }=
0% Hoggen a, b o axb=a%+b?—3ab ©oNd WP {1#(-1)}= {ﬁ %2 }=
(1) 23 (2) 35 3) 53 59
BT 13-D 126072
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78.  Which of the following diagrams suits well to represent days, weeks and years ?
Bod Dgres® Hb Blaren, aroren, SoSByores KrdotHend Korr $8Hod ?
o QD o 0 (@
79.  Fillin the gap below with suitable word.
Fruit: Reap : : Flower :
(1) Grow (2)  Fragrance (3) Bloom (4) Fall
8od a8 Slelenshy 5508° oS0k, |
HOAD : DO ;1 QO :
(1) BK&O (2) Herdoséo @ DE0WE0 (4) oredo
80. Find the value of x.
x DenSd K850k,
5 |10 10{20 15126 30|15
25 100 195 X
(1) 200 @ 210 (@) 22 @ 230
81. Thevalueofxis:
X 2N
5 | 1 E
618|9]|x 57 8][64] 416|718
7 6 5 |
(1) 136 @ 138 (3) 340 @) 140
82.  If the following square is rotated through an angle 90° about O in the anticlockwise direction and then
reflected through a line parallel to AB, then the resulting square appears as follows :
Bob SHBRR) O Koowe 90° s HYS® (glmo Td up ABS Sirostorr éX) 2.8 O rhome Sorsddso
B, 3B) SSHo Bod deforr SN0
D -
O
A B
B & A D A B B A
@ @) ©) @)
A D B L D C C D
P-T 15-D
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89. Thewordcoded as VIH is:
VIH e 88 Scdheds $do
() ROD (@) ReD @) SET (4 SUN
90. If the following equilateral triangle is reflected about the angular bisector of C and then rotated throughan
angle 120° about its centroid in the anticlockwise direction, then the resulting triangle will appear as
follows:
Bod Herso Beberd) C5E 8% Sdwpots O om Strdglo Sobod e TR Solgrerdo Mo
WBISBIEE 120° Er08® KHojgiemo TR 3y (Bgbaso (BoB Do Gt :
A
B C
C A A B
(W) /\ @ /\ ®) @)
B A C B B C c A
91. A meaningful arrangement of the following is :
(a) rational numbers (b) integers
(c0 realnumbers (d) naturalnumbers
B0B 8 2.8 ©EH08IN @008
(a) ©E5AS Somsen (b) Srposcen
€ RN Doggen (d) Rees Soggen
Choose the correct answer /380 e3zreni®d oD Tahod :
1) @) ®)(d) (d), (b, (a), (c) @ (@), ®) () (@) 4 (@) (b)(c)(d)
92. If R (n € N) is a rectangle of length =.1_, breadth by =ﬁ, then the sum of areas of
n
Ry, Ry Rygp is
e 1, =L, Btsem by —_-;1_1_ v o BESEHBH0 R (n e N) 9008 Ry, Ry...., Ry © Bremge vdo :
n
99 101 100 100
@ 100 AT ® T S
93. If the following square is reflected horizontally and then vertically, the resulting figure is :
Bob SHEIRPY) EBes dSrodorr Horddso Td uR GREEDPHONT HTPRBRO Bcdhre H5) SYEo :
C I T
[oe ddede ok ke e o
[ % * TTEEIIT IEEETIT] * * %
(1) @ (3) (4}
ek s el k% * e ook ek sk sk ek
P-T 17 -D
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Note: A survey conducted on 100 students with regard to their sports activity revealed the following
information: Every student who participated in the survey plays atleast one of the three games
Football (F), Cricket (C) and Volleyball (V) ; 20 play only F; 30 play only C; 25 play only V while5
play all the three. Moreover, 8 play both Fand V but not C. The number of students who play both
F and C only is same as the number of students who play both Cand V only. .

Using this information answer the questions from 97 to 100.

RSN : o Sonoded 100 b dogthen b %04 (Bob Srareed) Hido BRob : HoeS® PRI
(58 dresd Sar80BS° ¥D%0 DE° e vl stheeth. 9 HSerS (F), (83 (C) bk =0derS (V).
20 508 F Q @ ethardh; 30 50d CQ Sr@dh ethartd; 25 50d VO SH@d wihard, s
5% SorBodd sthardh. ©odwY, C ethor® FHdd Vel el 8 5908, F, Ces Bodod
Sod &d durge [ogg ; C, Ven BoloBd Sr(8d «d DTegte Soggd Sre.
& JShroroe) ad&@rAod (Sob 97 Soold 100 S8 Ko (BHe saraen adioa.

97. The number of students who play atleast two of the three games is:
St et €80 Bolodd et Dursthe Koy

ay 2 @ 23 (3) 24 25

98. The number of students who play Cis:
CR ot dusgthe Sogy :
(1) 45 ) 46 @ 47 4) 48

99. Inall how many students play V ?

o Dots Do HHobd Dasten VA estomets ?
(1) 42 @ 44 (3) 46 @) 40

100. The number of students who play F and CbutnotVis:
F, Cod ethér VI eiid Jurgtoe Jogy :

(1) 3 @ 4 @ 5 @ 6

101. Match the following:

List-1 List-1I
(a) Mycology (i)  study of pollen grains
(b)  Palynology (ii) study of treatment of tumours
(c)  Oncology (i) study of fossils of animals and plants
(d) Paleontology (iv) study of fungi
23885380t
eedae - I erdae - 11
(@) Shered () HorK Ceavader Lo
(b) Ddod i) %5 8 HowohodSa
) ooz (i) Berere HOOD BEEEDHKO
d) DOroired (iv) B8Dolgre HBoD essaDhldo

The correct match is/ 28 $S0&0S &°0s :
1) (a)-(iii), (b) - (if), () - (1), (d) - (iv) (2 (a)-(i), (b)-(iid), () - (iv), (d) - ()
(a) - (iv), (b) - (1), () - (i), () - (i) 4)  (a)-(1) (b)- (i), (c) - (iv), (d) - (iii)

P-T 19 -D
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105. Heparin is an anticoagulant found in blood and it prevents blood clotting within blood vessels and it is
produced mainly from :
(1) Kidney (2) Pancreas (3) Liver (4) Spleen
BS BE0s° dotd a8 (HBR0BK STrEHw. ab Q) ETres’ KEEh Home dothbs” S HEBHND.
28 Soggorr B $08 SE)KDHrH
(1) SEs (2) &hosm @ B0 @) &S
106. Identify the correct statement:
(1)  Theresistance of a metallic conductor depends on the potential difference across the conductor.
(2)  Theresistance of a metallic conductor depends upon the direction of the currentin the conductor.
(3) Theresistance of a metallic conductor depends on the length of the conductor.
(4)  The resistance of a metallic conductor is independent of the temperature of the conductor.
Bob AS® JOTN aegrsid HBosod
1) a8 S5 ardesso TwE) D85S 50 oo 055 DR, ﬂ“éaaﬂcﬁaﬁ 3o D rSHE Hoenol.
2 af SFrH TSEsn Gt B wrS® (HH%rod Digs [Hardrin BF P SLrESE Hotnod.
28 S5 SrESn o) VG SED T DEHP GEREDHE Hotnod.
@) af F5H THEin Bod) AG°EEn ePHSD ertdHd Hodith.
107. Match the following:
List-I List-1I
(@) Glucose (i)  Polysaccharide with Nitrogen-containing carbohydrates
(b) Starch (iiy Monosaccharides
(©) Maltose (iii) Polysaccharides
(d) Chittin (iv) Disaccharides
238 HBeHadw :
erdar -1 erdae - 11
(@) KpB°S () =S 50n &F) FOIEE 506 (&)
b) k5 (i) SrSSILBE
@ &GS (iii)  SOIEPE
d) 981 (iv) GIrEDE)

The correct match is/ 28 JOEOS 205 :

()  @-@), O)- @) ©-),@-0 @ (@-@v), b)- G ©)- @), (d)- )

@)  (a)- (i), (b)- (i), (c) - (iv), (d) - (1) 4)  (2)-(i), (b)-(iv), (c) - (i), (d) - (1)

108. Identify the correct statements:
(a) Lateblight of Potato disease was the causative factor for the ‘Great Irish Famine’ of 19th century.
(b) Brown spot disease of rice was responsible for Bengal famine of 1940’s.
(c) Theinserted foreign gene in Bt cotton offer resistance to bacterial diseases.
(d) Crown gallis a viral disease.
POGHS argyges MHBolok : |
(@) 198 dergd ¢S 00F K6  sotiardid) poreeethoBd SIS 86 B & a6,
(b) £B el Bord Loy a6, 1940 K¥50S° SRS Borrs SkHH seieso.
(© Bt38S® SIEDBS esedngd (foreign gene) er§8cHhe argtbeiiod Sk SO0,
(d) ERrS odd o8 I 5.
The correct statements are/S0GHS a°ggmgen :
®) @ @ ). @ @ @  ©.
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112. Match the following:
List-1I List-II
(@)  Aspirine (i)  Cyclotrimethylene trinitramine
() Muriaticacid (ii)  Acetylsalicylic acid
(©0  Ibuprofen (iii) Hydrochloric acid
(d RDX (iv)  Arylmethylacetic acid
238DHAw :
erfar - eed)ae - 11
(8) ©ROS ) PESNFOS (BIODS
(b) SngBcirdE esino (i) ANBS JPSHOE so
© oar@BS (i) FRIES08 waio
(d RDX. (iv) B S JHAE essho
The correct match is/ 26 $0&S £°805 :
1) (a)-(iv), (b)- (i), (c) - (1), (d) - (1) 2 (a)-(iv), (b)- (i), (c) - (i), (d) - (1)
(a) - (i), (b) - (i), (c) - (iv), (d) - () @) (a)- (i), (b) - (iid), (c) - (@), (d) - (iv)
113. Which of the following are energy giving molecules ?
(1)  Carbohydrate, Protein and Lipid
(2) Carbohydrate, Lipid and Vitamin
(3)  Carbohydrate, Protein and Vitamin
(4)  Protein, Lipid and Vitamin
& (BobardS® 80 1) weHeld H8oSod :
() soYEs, @84S Socm 08
(2) SEYFREES, ODE Hobcin DS
(B) sEYIREES, (AT SHbdcn DS
(4) (AT, OHE HBcd DOWS
114. Match the following:
List -1 List-1II
(a) Chernobyl disaster (i)  Peroxyacetylnitrate
(b) Bhopal tragedy (ii)  Chlorofluoro carbons
(¢ Ozonehole (iii) Radioactive substances
(d) Photochemical smog (iv) MethylIsocyanate
& (800 P 238Eednyad :
A | erdar - 11
(a) BEHYBS DHK () Hordywd3S IS
(b) &S Do M) &6°PE® sogSen
() &&58 oo (iii) ﬁrﬂtﬁ:ﬂmﬂﬁéé DETReD
(d) ScoBEFDS A (iv) DHES oIS
The correct match is/ 30 SOGHS &80 :
(1) (a)- (), (b)- (i), (c) - (1), (d) - (i1) @ (a) - (iid), (b) - (iv), (c) - (ii), (d) - (i)
@) (a)- (), (b)- (i), (c) - (iv), (d) - (iii) 4)  (a)-(i), (b)-(iv), (c) - (1), (d) - (i)
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117. Match the following :

()
(b)
(©)
(d)

Institution/ Council / Commission

Director General of Indian Council of World Affairs

Chairman of Payments Council of India

Chairman-cum-Managing Director of NALCO

Chairman of National Commission for the Protection

of Child Rights

808 O a3sfNBSos ;

(2)
(b)
()
(d)

Soz/ TS/ ENAS

208aHS TS 6f G 0 f) H FoE6 =5sS

mﬁeﬂs& Qﬁ&ﬁ—é&—ﬁaﬁﬁﬂﬁ Eﬁgﬁ
wdotd) TS 6 5ol 3ES

F5%5S W8S $6 6 (HBES 6 BS 26) H FGS

Officer Name
(i)  Vishwas Patel

(i) Tapan Kumar Chand

(1) T.C.A.Raghavan
(iv) Shrimat Pandey

(v)  Stuti Narain Kacker

OB 1
() DaxR 58S
(i) S58 HSrE HS0b
(iii) ... oPFHAI
(iv) @& oo
V) X8 seoeadhSG 886

Choose the correct pairs/answers/ S0G0S 2o / sarend J0dE TaHod :
(@) (@), (o) (), (V) @

(3)

(a)-(iv), (b)-(1i), (c)-(1), (d)-(i1) (4)

(a)-(v), (b)-(1), (c)-(iv), (d)-(ii)
(a)-(i), (b)-(1), (c)-(ii), (d)-(v)

118. Match the following:

(a)
(b)
()
(d)

(a)
(b)
(©)
(d)

Central Government Scheme

National Rurban Mission

Pradhan Mantri Fasal Bima Yojana
Pradhan Mantri Jeevan Jyothi Bima Yojana
Pradhan Mantri Kaushal Vikas Yojana

808 @ adHBSos ;

Sol8 ($ghe BEso

IB5S KBS RS

Bl Sool® HRIS D Boeessd
BEeS Sool® S58 &858 Do Toesis
(DFPN oold SRS DseR @Borasd

i)

(1)
(1)
(iv)

()

(i)
(1ii)
(v)

Launched in month, year
April 2016

February 2016

July 2015

May 2015

sbododalds Jo, Hon
DS 2016

(20 2016

e 2015

3 2015

Choose the correct answer/ pairs/ S8G0:S esarensd / asdeon dodE TFchod :

(1)
(3)

(a) - (i), (b) - (i), (c) - (iv), (d) - (i) (2)

(a) - (iv), (b) - (1), (c) - (i), (d) - (ii)

(a) - (i), (b) - (i), (¢) - (iv), (d) - () (a) - (i), (b) - (i), (€) - (iv), (d) - (i)
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India’s rank in the ‘Global Environment Performance Index’, 2018 was 177 among 180 nations. Identify
correct statements in this regard :

(a) Itwasreleased by 'Down to Earth’ Magazine.
(b) Itwascompiled by ‘State of India’s Environment’ 2018.
(€0 ‘State of India’s Environment’ covers diverse subjects from air pollution to environmental crimes.

(d) Thetop five countries of index in terms of green rankings are Switzerland, France, Denmark, Malta
and Sweden.

Choose the correct answer :
1) (@), (). (d) 2 (@y®yc)only (3 (b)(c)(donly (49 (a)(d)only

oS IRoSHoT DTSy =0885) 20186 180 Berod® grssddy e 177 r HBomrth. KR8
R000§0DN HOGHN DNVne oBoPsod :

() & A TR e I SgdS (‘Down to Earth’ Magazine) dibdse SRob.
b) B YS o5 5oloS ITSDooF 2018 Koseso TR0,

(©) 'ﬁ:ﬂéf @y 508drR DATPRDOED’ o3 worel, M srendio ol Hugdtes @_5: DD Y
2030 HBBOK0B.

(d) S8 $orddE® Tt wowth ﬁgmﬂﬁﬁ 008 (AS Tego80R Frob Waven DHo8 Aol [B°R), BI&5rE),
Srep, BRES.

KOG marend JodE VHod

@ A0 @@ @ @O05ED @ 0O @5ED @) () d)seEd

122. Examine the following statements related to national integration :
(@ Preamble begins with “We the people of India’.
(b)  Directive principles of Indian Constitution direct the states to take steps towards bringing equality,
justice, liberty to all.
Choose the correct answer :
(1) Both(a)and (b) are correct (2) Both (a) and (b) are incorrect
(3)  Only (a) is correct (4)  Only (b)is correct
PBOH BB E [0e0H0DS 808 wozredH $68D0S0s
(a) ‘shido griSEY [Pawodto’ 8° ertd Trerol [HR8Y (Dairomd) Sntioiod.
b) erbs Toergoild DY (sT8E) Arigres ©oKd8 $Xrddo, mmabo, '53575‘3 EO10d B Stge
88 ol TolFPerh T8,
DOGHS asTrenid JobhE Vobod :
(1) (a)08c5n (b) Bor HBTXD (2) (a)3oBdin (b)Bor DB s*a
@ (a) 575> BOFSE @) (b) Sl ¥OEHE
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In June 2018, the Union Cabinet approved the final extension of tenure of the Commission constituted to
examine the issue of Sub-categorization within OBCs in the central list. Identify from the following what is
not correct in this regard :

(a) The Commission is headed by G. Rohini.

(b)  The date was extended upto 315 July, 2018.

(¢) The Commission was constituted under Article 340 of the Indian Constitution.
(d) The Commission was supposed to give its report originally by 20th May, 2018,

Choose the correct answer :

1) (@, ®) (). (d) 2 (@.(®)(only (3) (a)(b)only (4) (d)only

e 2018, &° Bols Sr0@H00KD £.8.0. ¥E-seLNBEES H Sowofod donin BNE EDLS (Joy) Bw)
SPOHBNBY D560 AACHD @8odod. AD8 Boohodd BOMR JSrgrSoh KBosod :

(2) o 5oNS B. Fard eriod” HHD.

(b) & RS scoKk08 31 =8, 2018 $5% SPE&RCE.

(©) &rds orergoros R wRES 340 8ol & SRS égé%éﬂoﬁm&ﬁ&.
(d) S SRS S5 oD% D 20, 20185 aSFod aolod.

HOEDS esarEid JodE Fabod :

H @HOO @O @OOSED O @65 (@ S

126.

— -

Which of the following statements are correct about GST ?

(a) GSTis tobe collected at point of Sale.

(b)  GST abolishes all direct taxes levied in India.

(©0 Implementation of GST was started on 1%t July, 2017.
Choose the correct answer :

(1)  (a)and (b)only (2) (a)and(c)only
3) (b)and (c)only 4) (a),(b)and(c)
GST 8 $0m0f0dS 808 BS° JJSD 2D ?

(a) GSTQ edyso =8N (Hhdod® Skren TR,

(b) GSTgrss@806°) o) (HEE e 8t TX08.

(© GSTe=81,2017 {508 e 8 $Dob.

HOGHN esarenid oD Bahod :

(1) ()00 (b) Sr|gad @ (a) 50805 (c) Soo(ghed
(3)  (b)SBAm (c) Som(@sd (9 (a) (b)5B (c)
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129. Examuine the following pairs:
Author Book Title
(a) Sourav Ganguly - A Century is Not Enough
(b)  Shashi Tharoor - A State of Freedom
(c)  Sanjaya Baru - The Accidental Prime Minister : The Making .........
(d) AmartyaSen - The Idea of Justice
Choose the correct pairs/answer :
(1) (@) (b)and (c) only (2)  (b)(c)and (d)only
3  (a)(c)and(d)only 4)  (a) (b)and (d)only
8085 et HBBD0SOA :
S Hi¥o D (sofod’)
(a) BS Hfokrd - 2 VoS0 HE T IO
(b) &8 F5rb - D 26 & [Bo
(€ HoesshH o = &5 e8Roerd (R PG : & oA .........
(d) el RS - & wdair ¢f =R
HOEoN 23:re0id / doid JodE Tahod :
(1) (a) (b) S0 (c) Sl @ (b),(c) SBcko (d)ErSaD
(@) @ @@ (@5 @ (a), (b)0at (d) Sl
130. In the Swachh Survekshan 2018 rankings announced by the Ministry of Housing and Urban Affairs,
Government of India; in the category of over one lakh population, Greater Hyderabad, Warangal and
Karimnagar secured the following rankings :
(1) 22,49 and 76, respectively (3 27,31 and 73, respectively
(3) 38,47 and 85, respectively (4) 27,38 and 77, respectively
feTe Sobckn Hiee HgHSore Do@Ey T, GBS @ﬁbég&ﬁ (SEHosSalS 5553 ﬁﬁﬁsﬁ 2018 U‘;D%Uﬁ)és
DB Frtiorers, SBors Hbaim B0oSHE Siitreth (2.8 oF smregr Dodd Sifore Deriiost) O oego8orhen
Hovyow ?
(1)  Stodm 22,49 SO 76 @ S8 27, 31 KBS 73
(B) DGR 38, 47 HOA%w 85 (4) Soxdre 27, 38 08 77
131. Which instrument was produced by blending Indian Veena and Iranian Tambura ?
(1) Guitar (2) Violin (3) Sitar (4) Mandolin
erEBcH Des DB HTNCHS Sommreih HHfDoD Sairdd THX HoNd arantiEhd 7
(1) A&rB @) S@EOS @ 25 @) SroEdS
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136. The army that Subhas Chandra Bose established during the independence movement was:

(1)  Revolutionary Peoples Army (2) YoungIndia Army
(3) Progressive Peoples Army (4) Indian National Army
grBE Jeolgs K H500H08° KogrR Soll &°% FHODS Prgm :
(1) Berssd D) ) (2) o%oR solair e
3) (&0S HHS) 6y 2080HS JH5S 6y
137. Maitch the following:
Mahajanapadas Capitals
(@) Magadha (i) Mahishmat
(b) Kosala (i) Girivraja
(c/ Avanti (iii) Sravasti
(d) Vatsa (iv) Kausambi
Boh &Y a38HBEHD :
0sSBesd T SooggedaesTen
(a) NG (i)  Soer8
(b) &% (i) AB(HSes
() 308 , (iii) (BN
(d) S : (iv) 8°*rod
Choose the correct answer /35030 a3are0i JodE BaHod
(@) @~ GG, (-, (@) @ (@), b)) (©-Gv) (-G

@) (@), (b)), (c)-(iid), (d)-(1) 4 (a)-(iv), (b)-(i), (c)-(1), (d)-(ii)

138. Which of the kings in Indian history and the works authored by them is correctly matched ?

(1) Krishnadeva Raya - Samarangana Sutradhara
(20 Mahendra Verma - Mattavilasa Prahasana
(3) Bhojadeva - Manasollasa
(4) Someswara - Amuktamalyada
8ot BenHolS Treren, 0T (PcHadS SS0d° KO adSESHASL 28 ?
(1) Hidsoeahen - Ksoorones SolBerd
(@) stros sy L SEDe HEES
3) adS - SrdRBerd
4) RFDKY - eSmESmess
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142. Match the following:

List-1I
(a) Pallavas (1)
(b) Cholas (ii)
(c)  Vijayanagar (1ii)
(d) Hoyasalas (iv)
1Bo& T8 e3esHiBoHdm :

R -1
(a) DR (i)
(b) SPhen ' (i
0 DadHdKd (1ii)
(d) FohIrenen (iv)

(a)-(ii), (b)-(iv), (c)-(1), (d)-(ii)

List-1I

Hampi

Beluru
Mahabalipuram
Tanjore

20 - 11
P08
Beweds
D05FdHBo
efoeIeaetd

(2 (a)-(), (b)-(iv), (c)-(i), ()-(1)

;:nnse the correct answer /H0&% aTrenid Jods Tcahod :

(@)-(iv), (b)-(1), (c)-(ii), (d)-(1i)

(4)  (a)(ii), (b)-(iv), (c)~(i), (d)-(1)

143. Identify the incorrect statement about Bardoli Satyagraha of 1928:
(1) Itwas against the British Indigo planters.
(2) Itwasagainst the money lenders.
(3) Itwasinsupportof occupancy rights for farmers.
(4) Itwas against the increase of land revenue by 22% by the Bombay Government.

1928 &° 2sBA% 0870 dEnyK§E8 SomogiEn B weRR) MHBowhim :

@

od HDHoth Sve BN dhebirbeth SBTEL.

(2) b ShagErte S58050T 8dA0d.
(3) ©b BHod e SorBoSERE a0hck.
(4) o8 ffoaray (Hehso 22% gDl whEore DRoDH S§BHTS0MT SEIAIH.

144. Match the following:
List~1 List-1I
(a) Kalhana (i)  Harsha Charitha
(b)) Banabhatta (ii) Panchatantra
() Kautilya (iii) Raja Tarangini
(d) Vishnu Sharma (iv)  Artha Sastra
B8 B0 238HTHd :
[eoD -1 23803 - 11
(2) Sy i) &g S8
(b)  ereadies (i) Hodso
() Bheg (iil) Ores SBOREL
(d) Dy #G) (iv) o8 R
Choose the correct answer /3808 aarendd dodE ddhod :
1) (a)-(id), (b)-(i), (c)-(iv), (d)-(iii) (2 (@)D (b)-(iv), (c)-(i), (cl)-{tii)
(a)-(ii), (b)-(1). (c)-{iv), (d)-(i) (4)  (apii), (b)-(ii), ()-(3), (d)-(iv)
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148. Match the following:
List-I (Mangroove site) List - I1 (State)
(@) Karwar @  Odisha
(b) Coringa (i Tamilnadu
(c) Pichavaram (iii) Andhra Pradesh
(d) Bhitarkanika (iv) - Karnataka
S0b aHR esdfHBS0s
erdae -1 (D olw Q;:én) &g - IT (o°(50)
(@) soTx0 i) ealap
(b) S°Core (i) SDEFoetd
(© iHRdo (i) ol P3S
(d) &ab¥lE (iv) ESonel
Choose the correct answer/ pairs/38@d aarand/adeod JodE Jabod :
(1) (@), (b)), (0)-(iv), (d)-() 2 (a)-(i), (b)-(iv), (c)-i), (d)-(i)
@) (@-G) (b)), (c)-(ii), (d)-(iv) 4))  (@)iv), (b)-(id), (c)-(i), (d)-(1)
149. The lake Vembanad is located in:
(1) Malabar coast (2) Coramandal coast
(3) Konkan coast (4) Utkalcoast
BoerRE B8k e ;
(1) s o (2) &8ors Bio
(3) Eo¥S &¥o (4) &S 8o
150. Assertion (A): Delta formation is not seen along the western coastal plains of India.
Reason (R): Indian western coastal plains are more broader than the eastern coastal plains.
Choose the correct answer :
(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).
(3) (A)istrueand (R) is false.
(4) (A)isfalse but (R)is true,
BEFES (A): rBELE Sk 88 prrared® Tep d)EKo oibdos.
oo (R): grBERYE S8y B8 Doraren S8 Drrarosodl JEHS DR BSHRD.
BOTS esaenidy NodE Habod :
(1)  (A)5oBcso (R) Bokr a.sy) Hddin (R) 38 (A)H $S0GHhS DG
(2) (A)S0BcE» (R)Bor a5y 5°R (R) 30 (A) % BOGHS Dtes .
@) (A)o3n ey SO (R) 630 S,
@) (A)odd &) 50 (R) 03D e
151. The states which occupy first and second places in sugarcane production in India :
(1} Andhra Pradesh and Maharashtra
(2) Uttar Pradesh and Maharashtra
(3) Maharashtra and Andhra Pradesh
(4) Maharashtra and Uttar Pradesh
FESEH0S" BHH aH)BE" (Hh O BB FIred® K Tl :
(1) eoFHAE Sbkn ST
(@) edoEEs S0k kol
(3) oSPory HBai» e [t n ]
(@) Sodboryh Db SSEEHES
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Match the following :
List-I (Nuclear power station) List - II (State)
(a) Kakrapar ()  Rajasthan
(b) Rawatbhata i) UP
() Kaiga (ili) Gujarat
(d) Narora ‘ (iv) Karnataka
S00 80 e3dHBSol
ePREe - I (wen S Bo|g5o) erdae - II (T°(go)
(@) o8 () TS
(b) ToHEere: (i) &38| Has
© &g (iii) Heced
(d) R&o (iv) Somwd

Choose the correct answer/ pairs/38&b: asarenio/aie Jods JFobod :

1

(@)-{iv), (b)-(i), (€)-(i), (d)-(0) @) @) b)), (o)), (@)-(iv)
(@)-(i), (b)-(3), (c)-(iv), (d)-(i @ (@), (o)), ()-v), (d)-i)

156. Assertion{A): Black soils are formed due tc weathering of basaltic rock.
Reason (R): Black soils have high moisture retentive capacity.
Choose the correct answer :

(1)
(2)
(3)
(4)

Both (A) and (R) are individually true and (R) is the correct explanation of (A).
Both (A) and (R) are individually true but (R) is not the correct explanation of ().
(A)is trueand (R) is false.

(A) is false but (R) is true.

(BEFES (A): ord Boo 3peso Sg SgTHE grdnDd)deon.
6o (R): SOOKE ghrdnen wh% S JenHEKe Fotiso Hod.
JBT0NS esarend Jodh¥ Dehod :

(1)

(A) 5B (R) Boter ail) 5000 (R) @38 (A) & 5O DHGes.

@) (A)%8aso (R)Bote 2. 50 (R) @3 (A)% $BGS Dkses 0.

3)
(4)

(A) ©38 2.5 B0 (R) 30 S,
(A) &30 $5) 50 (R) &30 2.5,

157,

Assertion (A):
Reason (R):

windward side of western ghat.

Choose the correct answer :

(1)
(2)
(3)
(4)

Both (A) and (R) are individually true and (R) is the correct explanation of (A).
Both (A) and (R} are individually true but (R) is not the correct explanation of (A).
(A) is true and (R) is false.

(A) is false and (R) is true.

BBFEE (A): Sooeran SKEMe o) i Snoeran o8 SENN SEarer)) rothEod,

Ueso (R):

Do ©dnnorre «ob.

HOES e3Trend JoDHE BALos :
(1) (A) %6 (R)Bockm e S8y (R) w36 (A) % $O@E Disise.

(2)
(3)
(4)

(A) S5oBc5» (R) Bor ausd) 5°Q (R) @30 (A) % $OGHE DStes 0.
(A) ©30 a0 (R) &30 S5
(A) @38 85 5°0 (R) 030 es).

Pune, which is located near Mumbai receives less rainfall as compared to Mumbai.
Pune is located in the leeward side of western ghats and Mumbai on the

P8 DB Edvod I53 dorexipo 3 @od. ©@Ern Swoeron HBpH SdHeH

P-T

39 - D

www.eenadupratibha.net


nagaraju
Oval

nagaraju
Oval

nagaraju
Oval




nagaraju
Oval

nagaraju
Oval

nagaraju
Oval


www.eenadupratibha.net

P}

161. Examine the following statements about the following articles of the Indian Constitution:

(a)  Article 245 of the Indian Constitution states that the powers of both parliament and state legislature
are subject to the provisions of the Constitution.

(b) If an accused person is directed to give his voice sample during the course of investigation of an
offence, there is no violation of his right under Article 20(1).

Choose the correct answer :

(1) Both(a) and (b) are correct (2) Both(a)and (b) are incorrect
(3)  Only (a)is correct (4)  Only (b)is correct

et U'*&I“Eguﬁuéﬁm 806 wOE8HRO% Sonododd sodred H88D0S0a

(@) &r88 TreoKod™ 245 ©@4ESRO SrYRon HB TG TN Kefen Tearol AmogiedH ol
SVBSreD By Eod.

b) JE darded® grrore (iR Ssorar aamed el Jobdl) eB87 20(1) @fBdno (Hsebo & wddo
358 D agoduoddty su.

BSOS esTrenidy wodE Fdhol :

(1) (a) SBcsw (b)Botr HBFHD (2) (a) %6805 (b)Botir SOFED =
@ () Sl $OEHE @) (b)SrEsh $OTHSa
162. Match the following:
List-1 List-II
(@) Narmada bachao andolan () Sunderlal Bahuguna
(b) Chipkomovement (ii) Daripally Ramaiah
(c)  Biodiversity concept (i) Medha Patkar
(d) Vanajeevi (v) Edward O Wilson
(v) Michael Greenstone
808 T a38H0U0d :
05 -1 0§ -1I
(@) SYoe oS sofES i) Doderd ndwiben
b) D) woSHS (i) 5058 ooy
(© =5 3D PSS (iii) o= b
(d) S5 (v) R0 & DS
v) Dod OIPS
Choose the correct answer/ pairs /30gbi8 aarenid/adesd JodE Fahod :
(@) (@), (-6, (©-v), (-G @ (@ G- (Hw). (@)
@)  (a)(u), (b)-(ii), (c)-(iv), (d)-(i) @)  (a)(ii), (b)-(iv), (c)}-(v), (d)-(1)
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E[ﬂ
165. Examine the following statements regarding the Fundamental Duties :
(a) Article 51 deals with the Fundamental Duties.
(b) Fundamental Duties were incorporated in the Constitution through 4274 Amendment Act 1976.
(6 Fundamental Duties cannot be enforced by ‘writs’.
(d) Fundamental Duties cannot be promoted by Constitutional methods.

Choose the correct answer :

(1)  (a)and (b)only ()  (b)and(c)only
(®) (a)and(c)only @  (a), (b)and (0

I DE Dehe SonodHod 8od womeH H88Dokod ¢

(2)  eBSE 51 (DHDE D BevHEob.

(b) 1976 Sonsh 4235 oresors St WRTE [@PEabE HEhed BPothdsart.
(©  ‘Oely oo ([Zeians Do e Bdbda.

(d) oremgol ﬁgéwé‘s [ErE Y Dedhed Ardoer TaHhTo.

HOTN aaranid oY FoHod

(1) (2)%6dk (b) S (@) ® @80t () dme
@)  (a)SoB (c) SorlE @ (a),(b) B (c)

166. Regarding the state bills reserved for President’s consideration, examine the following statements :
(a) President may declare his assent to the bill,
(b) President may return the bill to the state legislature for its consideration.
()  State legislature shall reconsider it accordingly within a period of six months.

(d) If the legislature again passed it with or without amendment, President shall approve it.

Choose the correct answer :

(1)  (a)(b)and (c)only (2} (a),(b)and (d) only
3)  (b) (c)and(d)only (4)  (a)and(c)only

Ub@gﬁ)é Dol &en uagﬁaa LRVt éﬂn&'ﬁ, Uﬁgﬁ@ 0bsrordd KHowofod 8od DI¥eed HB8DoS0S
(a) TFEOB & ey Jos¥o DbBH)

b) THBDS e DR:H080S EG P08 83y HoDHB).

() TPEH8 JrdSSd eibnor tof B85 ¢ 6 Jee &% HS:588D0d.

) $S8pes® ™D Sor SStne Showe PR BokSIO T7F 0N B¢ GIPAT, TFHHD S5080m

Hosto DD,
HOGES esTrenidd Nohs Bohod :
() (@) (b) SBeswo (c) Smisis (@ (a) (b) B0k (d) Er(esdd
@)  (b), () obo (d) Sori (4)  (a)0Bukn (c) S(ad
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Examine the following statements about the NITI Aayog of India :

(a)  Itwasestablished to provide a critical, directional and strategical inputs to the development process
of Indian economy.

(b)  Ithelps toevolve, promote and strengthen cooperative federalism.
()  Itformulates five year plans for India.
(d)  Itwill create a knowledge, innovation and entrepreneurial support through collaborations.

Choose the correct answer :

()  (a),(b)and(c) only (2)  (a) (b)and (d)only
3)  (b),(c) and (d) only (4) (a)and (c) only

e tal-Talo8 igbnrﬁm&é D8 (NITI) e&Grh % H5000500% 808 womrein H88D0504

(a) QDGIrEE, Aecd)E, JrgsTtds P08 Sodtetn @)D [SEHH wodoiSreDS N8 8GR o7
B,

() erEERES® By Hreg FPR () EroSEeRS, pebtseel8, Erirofostels ud 8%%)hiod.
(0 erBEE7R8 HoSSY, (SerdSod Srrodihod.

d) edyomre oxoe H0epae), SSse)te, HgOPDE S5 S RO SOyK0l.

HOGHE aarand JodE VDol :

1) (), (b) B (c) S @ (a), (b) 580 (d) So(e
() (b),(c) SoBait (d) S @) (a) HBcD (c) S
171. Examine the following statements about the ‘Scheduled Castes and the Scheduled Tribes (Prevention of

Atrocities) Amendment Act, 2015’ :

(@) The Actcame into effect from October 2, 2015.

(b)  Special courts are to be established for speedy trial of the cases related to offenses against members
of the SCs and STs.

()  Preventing tribal people from using religious, health and educational institutes is also made
purnushable by law.

Choose the correct answer ;

(1)  (a).(b)and(c) (2)  (a)and (b)only

(3) (b)and (c)only (4) (a)and (c)only

g eren, RS BNe (hrdd Dards) B8 580’ 2015 H00D 808 wozredy H64Dokos

(a) ©F @b 220155008 & Sio wHend®d SO0,

(b) SCBcsw ST RghyetH aﬁg,@ﬁécnﬂ 8307 Jored Sop0fods Bherd SKSodorr Dorde BESEIS
e (858 S'hedd dovyen Sdird.

(€  ABaS (Hesen HSDEIN, esﬁﬁrga’)ﬁ@_:a’) S0Bckn DoegHETY éu@uﬁa a8 DrAcHE S o Dardosito
Sree Sé@sedo 8grio.

HOTS aarenid JohE JoHod :

(1) (a) (b)&BS» (c) () (a) 0B (b) S
(b) So8d5w (c) Soelefad (4) () DB (c) HorEd
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174. Examine the following statements about the ‘European Bank for Reconstruction and Development’ (EBRD):
(a)  The bank was set up in 1991 after the fall of the Berlin Wall.

(b)  The bank’s headquarter is located in Berlin.

(©) India became the 69t shareholder of the bank.

(d)  The bank aims at promoting public infrastructural initiatives in emerging Europe.

Choose the correct answer:

(1) (a), (b) and (c) only
(3) (b)and (d)only

(2) (a),(b)and (d) only
(4) (a)and (c)only

‘DI oo b @il 8%0 cfrEoHS grgofy’ (EBRD) 8o Sol DDBRpeD (vodroRn)

58490508 ¢

(a) BBS A (o) DesSo Sovd & ersoh 1991 &° domen Schwod.

(b) erso® (Hged sroegpabo BBSE° dod.

(0 ersotH G 695 arrmrtine grigido J6oB.

(d) em5oH oo ABrHHK) it rs® (Hee SO Hrharaire Eayid [BiEyirosito.

RG0S aarand JodE Dakold
(1) (a) (b) &Bokn (c) Srl&aD
) (b) B (d) S

@) (a), (b) 508w (d) SoeleD

(a) 508050 () SFSD

175. Match the following states with their respective Maternal Mortality Rates (MMR) during 2014-16:
State MMR
(a) Kerala (i 237
(b) Assam (i) 199
() Maharashtra (iii) 66
(d) Rajasthan (iv) 61
(v) 46
2014-16 sr00S5° 808 oo ard [@Er8 Sbere 0end® (MMR) 28508 :
oo (B5r8 Here Tin
(a) S8 G 237
(b) o (i) 199
© oSory (i) 66
(d) oTraRs (iv) 61
(v) 46
Choose the correct answer/ pairs /3058 asmreno/mdoid 2028 Jchob :
1) (@), (B, (-G, (@)) @  @Hw). BF) ©-Gv). (@)
@) (a)-(v), (b)-(iid), (c)-(1), (d)-(ii} (4)  (a)-(ii), (b)-(i), (c)-(iv), (d)-()
176. On which of the following dates did Pandit Jawaharlal Nehru laid the foundation stone for the construction
of the great Nagarjuna Sagar Project?
(1) 1 August1955 (2) 11 December 1955
(3) 1October 1956 (4) 1November 1956
25386 e JeTo Tereelps G (EREE) Qoedinds ForPDN DS BB B ?
(1) 16Ky 1955 @) 11&%005 1955
(3) 18581956 4) 135088 1956
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The 1969 agitation for separate statehood began on the issue of employment at:

(1) Kothagudem Thermal Power Plant

(2) Singareni Coal Mines

(3)  Nizam'’s Sugar Factory

(4) Andhra Pradesh State Road Transport Corporation

1969 6°0 (5858 ooy sti5io Bob D Kog 650 aaty Dokl Bblgs” ErGogizhod ?

() a0 5ys o8 Fs

(2) RorSd & Kb
(B) Rero SEB Sorrds
(4) oFHAE oy B Sares BoP

182.

Arrange the following in chronological order :
(@) ‘Telangana Praja Front’ was formed by Gaddar.

(b} ‘Telangana Dhoom Dham’ was held at Kamareddy for the first time.
(0 Commimist party of India organised ‘Telangana Poru Yatra” from Jodeghat to Hyderahad
(d) Bharatiya Janata Party organised ‘Poru Telangana’ from Hyderabad to Bhadrachalam.

Bod B SHJES0S® HENH® :

(@) Boorres [HerFpols & K35 dovyin .

(b) ‘Boorres §ro o’ IneInSBIFOM seEroE &° EroTd.

(@ 580D S5mRT B Shsres ol TrETers S8 Boorres S Ay BHep.

(d) &rB83% esbe 5‘-‘*6 rETrerth Kool glErdeo S5 ‘SR Boormes’ SPEYEETR)) DUsTroTE.
Choose the correct answer /838G aarenid 0 Jabod :

@) BLE@OG @ OEd0 6 @OOd @ ©O@ob.ae

183. Match the following :
List-1 List-1I
(a) Ampasayya Naveen () Pantulamma
(b)  Sangishett Srinivas (i) Veguchukkalu
(0 Devulapalli Ramanuja Rao (iii) Kalarekhalu
(d) Madireddy Sulochana (iv) Shabnavis
1Bod a°8Q 23e850Ham ¢
erdar -1 el -1
(a) oRIoly SDS () Sodbody
(b) HoN3H (IR (i) SroHHen
(€) BHUHD tedride v (i) SceDpen
(d) Hre0% E°SS (iv) e
The correct match is /200D 238 :
@ (a)-(iid), (b)-(iv), (c)-(i), (d)-(i) (2  (a)-(v), (b)-(ii), (c)-(i), (d)-()
(a)-(1), (b)-(i), (c)-(ii), (d)-(iv) 4)  (a)-(ii), (b)-(iv), (c)-{1), (d)-(ii)
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189. Assertion (A): In 2001 local body elections, the T.R.S. made an impressive show by getting 18 percent
of votes in the Telangana region.
Reason (R): Because of the growing official neglect towards Telangana region in United
Andhra Pradesh State K. Chandrashekar Rao Left “Telugu Desam Party’ and formed
‘Telangana Rastra Samithi’,
The correct answer is :
(1) Both(A)and (R) are true and (R) is the correct explanation for (A)
(2)  Both (A) and (R) are true and (R) is not the correct explanation for (A)
(3)  (A)istrue but (R)is false
(4) (A)isfalsebut(R)is frue
|DBIPES (A) : 2001 &° 238AS 5;5% KoRe B &.86.JR. 18 B0 Léy Hoardod want S6D0A.
s*8es0 (R) : o wolFHEE TrPEns® Beorrsn (@rodin B JoER) w508 DY D908
SgBBLor 8. So|tiBPpbors Senid BYSH FER H6O Boorres ToF SIS EHoBD.
P0G DNGE
(1) (A)30Bcio (R)Botsre Desadw, (R), (A) £ 2031 Ddes.
@ (A) 50805 (R) Botir Desis, (R), (A) % 5B Distsen SoE.
3) (A)adw 520 (R) &)
4) (A)&d) =0 (R) Qasado.
190. Ehe poll survey conducted in 2011 by the Centre for the Study of Developing Societies (CSDS) was headed
y:
(1) Rajdeep Sardesai (2) Yogendra Yadav
(3) Pranay Roy (4) ArnabGoswami
2011 Sond® Dows H8 J& of B30bOR FPET B.08.8.05.) ©F Sog RroDS HerdPad DEbem
20 &acﬁsﬁéaeis 238R00 7
(1) oeeBS HDarow @ evuTale [afevoLlnts]
B) Eadod 4) RS I
191. Identify the wrong pair:
(1) Palle Kanneru Pedutundi - Gorati Venkanna
(2) JayaJayahe Telangana - Andesri
(3) Urumandira - Chada Anjaiah
(4) Amma Telanganama - Gaddar
R0=PR a3y HBoB0dk ¢
(1) B 5N HEod - 38 Jo8s)
(2) escd aadd e Boore - Dlotalk:
@ GadoNaTe - it eoadly
(4) oy Bworradr - glatal
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198. Arrange the following important Agitations in chronological order under the leadership of students of

Osmania and Kakatiya Universities.

(a) ‘Telangana Vidyarthi Garjana’

(b)  ‘Chalo Assembly’

(c) ‘Telangana Vidyarthi Mahagarjana’

)  ‘Vidyarthula Polikeka’ by Kakatiya University Students

Ctspilevugivialovy Syt tlove Smgﬁlgea aﬂﬁﬁnéésuﬁs 2BAS & (808 atgdrerd srerEshos® wdt)sw.

() ‘Boorres Dugd G’

(b) P @?Jﬂé’

(€ ‘Boorres dugd Q03B Ges’

(d) =EBDH SHrBeYD gjmﬂéﬁgﬂé NEErotaE Drrge SOBE’

Choose the carrect answer /R8G0S 23576080 QO Jaol

(1) (@) (k) () (d) 2 () (a)(d) () ) () (b)(a)(d) (). (d). (b). (2)

199. Which one of the following statements made in A.P. Legislative Assembly in June 1961 is not correct ?

(1)  “If the Government takes immediate steps to provide basic necessities to the people of Telangana,
then there is every possibility of emotional integration of both the regions at the earliest”
- P.V. Narsihma Rao.

(2)  “The Securities and Revenue surplus of Telangana has been spent on Andhra region. If only that
amount and another four to five crores were spent on Telangana, it would have developed well”
- P. Sundarayya.

(3)  “Itis five years since Vishalandhra was formed. But there has been no emotional integration. The
policies of N. Sanjeeva Reddy were responsible for it” - Ravi Narayan Reddy.

(4)  “No one wanted to rob Telangana money. We are just thinking as to how to solve the problem”.
- Chief Minister N. Sanjeev Reddy.

225 19616° A.P. a8 D588 B2 & (808 (BSSarad® Hos8 b ?

(1) “SBeoorres Hae ST a0y BB RTPEN Eﬁiﬁt)mﬂﬁ]é ghéko 20o& &oLre tﬁiﬁéﬁﬂ S0%08, ®od
FoLEed, Boorres, sol giod ([Frodine i, ‘DRPHIS BoBRAT, B TPE)BEN ~E%Hes
oS8 @950 Gotnod”. - 1.8, JDBV0TFTY).

(2) ‘“Boorre 6 ?aépéﬁéﬁaﬁ, BDKy orHend wo|ff|@rossns® piinheto wbhch. & Beorren
ey Bk refith By eitore sty pdHos Boorre e @i Jok BoGH”. - 2. MotEais,

(3) “Deverold OGB 5dosSyoren @HHHH. 50 ADrEIS 20BARS 2k, HI8 BodHVETD
©H0000dd JPRSDE Swegseinsn” - To8) FFUPeRTG.

@ “Boorre e wH0omroR Gg¥o D508 S, Jagd 2 dorr HBFPoTOR w&° DKTmED”.
- Soggseol® Nec HoASBE.
200. Identify the leader who did not appose the disintegration of Hyderabad state and
represented the same to the states Re-organisation Committee.

(1)  Pundit Narendraji (2)  Pundit Vinayak Rao

(3)  Gopal Rac Ekbote (4) Kotturu Seetayyagupta

riorerd ooy Hefesdi SsB080sHow, "%éﬁ;] B—th@éﬁﬁ KBS p8 edresorT AL SN Dolntatilela

Dt ?

(1) Dol& $0ose (2) $ol&8 DESHE T

@) S oo 258 (@) suxs biogoy

~-00o0-
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